





1. What will be the value of  $\sec \alpha$  ?  
 a)  $\sqrt{\frac{2}{3}}$       b)  $\sqrt{\frac{3}{2}}$       c)  $\frac{1}{\sqrt{3}}$       d)  $\frac{1}{\sqrt{6}}$
2. What will be the measure of the angle  $\beta$ ?  
 a)  $\frac{\pi}{3}$       b)  $\frac{\pi}{6}$       c)  $\frac{\pi}{4}$       d)  $\frac{\pi}{12}$
3. What will be the value of  $\tan \alpha$  ?  
 a)  $\sqrt{3}$       b)  $\frac{1}{\sqrt{3}}$       c)  $\frac{1}{\sqrt{2}}$       d)  $\frac{1}{\sqrt{6}}$
4. What will be the value of  $\tan \beta$  ?  
 a)  $\sqrt{3}$       b)  $\sqrt{2}$       c)  $\frac{1}{\sqrt{3}}$       d)  $\frac{\sqrt{2}}{\sqrt{3}}$
5. What will be the value of  $\tan (\alpha + \beta)$  ?  
 a)  $\sqrt{3} - \sqrt{2}$     b)  $\sqrt{6} + 1$     c)  $\frac{1+\sqrt{6}}{\sqrt{2}-\sqrt{3}}$     d)  $\frac{1-\sqrt{6}}{\sqrt{2}+\sqrt{3}}$

3.	Prove that $\left(1 + \cos \frac{\pi}{8}\right) \left(1 + \cos \frac{3\pi}{8}\right) \left(1 + \cos \frac{5\pi}{8}\right) \left(1 + \cos \frac{7\pi}{8}\right) = \frac{1}{8}$ .	5
4.	Prove that $\cos^2 x + \cos^2 \left(x + \frac{2\pi}{3}\right) + \cos^2 \left(x - \frac{2\pi}{3}\right) = \frac{3}{2}$ .	5

**ANSWERS:**

Q. NO	ANSWER	MARKS
1.	i) d) ii) c) iii) a) iv) c) v) b)	
2.	i) b) ii) a) iii) c) iv) a) v) c)	
3.	$\cos \frac{7\pi}{8} = \cos \left( \pi - \frac{\pi}{8} \right) = -\cos \frac{\pi}{8}, \cos \frac{5\pi}{8} = \cos \left( \pi - \frac{3\pi}{8} \right) = -\cos \frac{3\pi}{8}$ $\text{LHS} = \left( 1 + \cos \frac{\pi}{8} \right) \left( 1 + \cos \frac{3\pi}{8} \right) \left( 1 + \cos \frac{5\pi}{8} \right) \left( 1 + \cos \frac{7\pi}{8} \right)$ $= \left( 1 + \cos \frac{\pi}{8} \right) \left( 1 + \cos \frac{3\pi}{8} \right) \left( 1 - \cos \frac{3\pi}{8} \right) \left( 1 - \cos \frac{\pi}{8} \right)$ $= \left( 1 - \cos^2 \frac{\pi}{8} \right) \left( 1 - \cos^2 \frac{3\pi}{8} \right)$ $= \sin^2 \frac{\pi}{8} \sin^2 \frac{3\pi}{8} = \frac{1}{4} \left( 2\sin^2 \frac{\pi}{8} \right) \left( 2\sin^2 \frac{3\pi}{8} \right)$ $= \frac{1}{4} \left( 1 - \cos \frac{\pi}{4} \right) \left( 1 - \cos \frac{3\pi}{4} \right) = \frac{1}{4} \left( 1 - \frac{1}{\sqrt{2}} \right) \left( 1 - \frac{1}{\sqrt{2}} \right) = \frac{1}{8}$	5
4.	$\text{LHS} = \cos^2 x + \cos^2 \left( x + \frac{2\pi}{3} \right) + \cos^2 \left( x - \frac{2\pi}{3} \right)$ $= \frac{1}{2} \left( 2\cos^2 x + 2\cos^2 \left( x + \frac{2\pi}{3} \right) + 2\cos^2 \left( x - \frac{2\pi}{3} \right) \right)$ $= \frac{1}{2} \left[ 1 + \cos 2x + 1 + \cos 2 \left( x + \frac{2\pi}{3} \right) + 1 + \cos 2 \left( x - \frac{2\pi}{3} \right) \right]$ $= \frac{1}{2} \left[ 3 + \cos 2x + \cos 2 \left( x + \frac{2\pi}{3} \right) + \cos 2 \left( x - \frac{2\pi}{3} \right) \right]$ $= \frac{1}{2} \left[ 3 + \cos 2x + \cos \left( 2x + \frac{4\pi}{3} \right) + \cos \left( 2x - \frac{4\pi}{3} \right) \right]$ $= \frac{1}{2} \left[ 3 + \cos 2x + 2\cos 2x \cos \left( \frac{4\pi}{3} \right) \right]$ $= \frac{1}{2} \left[ 3 + \cos 2x + 2\cos 2x \left( \frac{-1}{2} \right) \right] \text{ As, } \cos \left( \frac{4\pi}{3} \right) = \frac{-1}{2}$ $= \frac{3}{2}$	5